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8) Consider an economy where:
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where  is the inflation rate,  y is the output gap.  and  are uncorrelated with each other and are bothB ,IS ,AS

mean-zero  i.i.d. - there is no persistence in these shocks and they cannot be predicted in the previous

period. The central bank chooses to minimize a loss function:r
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Note that I have assumed nothing so far about the relative importance of the two shocks: the variance of

might be miniscule while the variance of   is big, or vice-versa. Also, I have assumed nothing about,IS ,AS

the central bank’s information when it sets  : it might know the current values of both   and  , orr
t

,IS ,AS


